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V>Æ‡¬rÆŠæ _MìS™èlÞÌZ H IÝùsZç³#¯]l$ Eç³Äñæ*WÝë¢Æý‡$?
Ð]l*¨Ç {ç³Ô¶æ²Ë$

1. 1986ÌZ MýS°í³…_ ]̄l õßæÎ ™øMýS è̂l$MýSP Ð]l$äÏ H
çÜ…Ð]l™èlÞÆý‡…ÌZ MýS°í³çÜ$¢…¨?
1) 2026 2) 2062 
3) 2048 4) 2019 

f. 2;
ÑÐ]lÆý‡×æ: õßæÎ ™øMýS è̂l$MýSP {ç³† 76 çÜ…Ð]l™èlÞ-
Æ>ËMøÝëÇ MýS°í³çÜ$¢…¨. M>ºsìæt Ð]l$äÏ 1986
+ 72 = 2062 çÜ…Ð]l™èlÞÆý‡…ÌZ MýS°í³çÜ$¢…¨.

2. ¿¶æ*Ñ$Oò³ JMýS Ð]lçÜ$¢Ð]l# ¿êÆý‡… 72 MóSiË$
AÆ‡¬™ól è̂l…{§ýl$°Oò³ B Ð]lçÜ$¢Ð]l# ¿êÆý‡…
G…™èl?
1) 72 MóSiË$ 2) 7.2 MóSiË$
3) çÜ$¯é² 4) 12 MóSiË$

f. 4;
ÑÐ]lÆý‡×æ: ¿êÆý‡… w=mg CMýSPyýl
m= {§ýlÐ]lÅÆ>Õ, g= VýS$Æý‡$™èlÓ ™èlÓÆý‡×æ…
¿¶æ*Ñ$ Äñæ¬MýSP g ÑË$Ð]l 9.8 Ò$/òÜ2 

è̂l…{§ýl$°Oò³ g ÑË$Ð]l 1.6 Ò$/òÜ2 A…sôæ
¿¶æ*Ñ$Oò³ ]̄l 'g' ÑË$Ð]lÌZ è̂l…{§ýl$°Oò³ ]̄l 'g'
ÑË$Ð]l 1/6 Ð]l…™èl$ E…r$…¨. M>ºsìæt 72
MóSiËÌZ 1/6 Ð]l…™èl$ A…sôæ 12 MóSiË$.

3. MìS…¨ ÐésìæÌZ A™èlÅ«̈ MýS Eç³{VýSàË$¯]l²
{VýSçßæ… H¨?
1) Ô¶æ° 2) º$«§ýl$yýl$
3) Ô¶æ${MýS$yýl$ 4) ¿¶æ*Ñ$

f. 1;
ÑÐ]lÆý‡×æ: º$«§ýl$yýl$, Ô¶æ${MýS$yýl$ {VýSàË$
Eç³{VýSàË$ Ìôæ°Ñ. ¿¶æ*Ñ$MìS E ]̄l² HOMðSMýS
Eç³{VýSçßæ… è̂l…{§ýl$yýl$. M>ºsìæt Ô¶æ°MìS (21+)
Eç³{VýSçàË$ E¯é²Æ‡¬.

4. 37°C ]̄l$ ¸ëÆý‡¯ŒæïßæsŒæ Ð]l*¯]l…ÌZMìS
Ð]l*Æý‡a…yìl.
1) 102.4 F° 2) 98.4 F°
3) 98.6 F° 4) 37 F°

f. 3;
ÑÐ]lÆý‡×æ: òÜ…sîæ{VóSyŠæ (°C)̄ ]l$ ¸ëÆý‡ Œ̄æïßæsŒæ
(F°)Ð]l* ]̄l…ÌZMìS Ð]l*Æ>aË…sôæ MìS…¨
çÜ*{™é°² Eç³Äñæ*WÝë¢Æý‡$.

CMýSPyýl C=37°C
∴

100(F-32) = 37×180
100F-3200 = 6600
100F = 6600+3200 = 9860

F°
5. S.I. Ìôæ§é M.K.S. ç³§ýl®†ÌZ ÝëÐ]l$Æ>¦Å°MìS

{ç³Ð]l*×æ…?
1) GÆŠæY/òÜMýS ]̄l$ 2) goÌŒæ/òÜMýS¯]l$
3) ÐésŒæ 4) 2, 3

f. 4;
ÑÐ]lÆý‡×æ: ÝëÐ]l$Æý‡¦Å…= ç³°/M>Ë…

= goÌŒæ/òÜMýS¯]l$

JMýS òÜMýS ]̄l$ÌZ 1 goÌŒæ ç³° fÇW™ól
ÝëÐ]l$Æý‡¦Å… 1 ÐésŒæ AÐ]l#™èl$…¨.
BÑÇ Ä¶æ$…{™èl… MýS°ò³sìæt̄ ]l gôæÐŒl$Þ ÐésŒæ
VúÆý‡ÐéÆý‡¦… D {ç³Ð]l*×ê°MìS ÐésŒæV> õ³Æý‡$
ò³sêtÆý‡$.

6. MìS…¨ ÐésìæÌZ ™èlÇW´ùÄôæ$ Ô¶æMìS¢ Ð]l ]̄lÆý‡$ H¨?
1) ÝûÆý‡Ô¶æMìS¢ 2) ç³Ð]l ]̄l Ô¶æMìS¢
3) fËÔ¶æMìS¢ 4) ó̄lË»ŸVýS$Y

f. 4;
ÑÐ]lÆý‡×æ: ÝûÆý‡Ô¶æMìS¢, ç³Ð]l ]̄l Ô¶æMìS¢, fËÔ¶æMìS¢ A ó̄lÑ
™èlÇW´ù° Ô¶æMìS¢ Ð]l ]̄lÆý‡$Ë$ G…™èl Eç³Äñæ*-
W… è̂l$Mö¯é² †ÇW E™èlµ†¢ AÐ]l#™éÆ‡¬.
M>ºsìæt ó̄lË »ŸVýS$Y ™èlÇW´ùÄôæ$ Ô¶æMìS¢ Ð]l ]̄lÆý‡$.

7. MìS…¨ H °Ä¶æ$Ð]l*Ë ]̄l$ A ]̄l$çÜÇ…_ KyýlË$
°ÇÃÝë¢Æý‡$?
1) ]̄l*År Œ̄æ VýSÐ]l$ ]̄l °Ä¶æ$Ð]l$…
2) ¸ëÆý‡yól °Ä¶æ$Ð]l*Ë$
3) »ñæÆø²Î °Ä¶æ$Ð]l*Ë$
4) íÜ¦Æý‡™èlÓ °Ä¶æ$Ð]l*Ë$

f. 4;
ÑÐ]lÆý‡×æ: íÜ¦Æý‡™èlÓ °Ä¶æ$Ð]l*Ë¯]l$ A ]̄l$çÜÇ…_
Kyýl ]̄l$ °ÇÃÝë¢Æý‡$. Kyýl B«§éÆý‡ OÐðlÔ>ËÅ…
Ýë«§ýlÅOÐðl$¯]l…™èl GMýS$PÐ]lV> ]̄l$ VýS$Æý‡$™èlÓ
MóS…{§ýl… G™èl$¢ Ýë«§ýlÅOÐðl$ ]̄l…™èl ™èlMýS$PÐ]lV>
E…yólrr$Ï Kyýl ]̄l$ °ÇÃÝë¢Æý‡$.

8. Æð‡…yýl$ §ýlÆý‡µ×êË ]̄l$ 60° Mø×æ…ÌZ AÐ]l$Ça-
]̄lç³#µyýl$ HÆý‡µyól {ç³†¼…»êË çÜ…QÅ?
1) 4 2) 5 3) 7 4) 2

f. 2;
ÑÐ]lÆý‡×æ: Æð‡…yýl$ §ýlÆý‡µ×êË ]̄l$ θ Mø×æ…ÌZ
AÐ]l$Ça ]̄lç³#yýl$ HÆý‡µyól {ç³†¼…»êË çÜ…QÅ

CMýSPyýl θ = 60° M>ºsìæt 

= 6---&-1=5

9. 6Ω, 12ΩË °Æø«§éË ]̄l$ çÜÐ]l*…™èlÆý‡…V>
MýSÍí³™ól çœÍ™èl °Æø«§ýl…?
1) 72 Ω 2) 12 Ω
3) 18 Ω 4) 4 Ω

f. 4;
ÑÐ]lÆý‡×æ: R1, R2 l°Æø«§éË¯]l$
çÜÐ]l*…™èlÆý‡…V> MýSÍí³™ól çœÍ™èl °Æø«§ýl…

R1= 6Ω; R2=12Ω

Ω

10. MìS…¨ ÐésìæÌZ IÝù»êÆŠæË° Ðólsìæ°
í³Ë$Ýë¢Æý‡$?
1) 1H

1, 1H
2, 1H

3

2) 10Na
20, 10Na

21, 10Na
22

3) 19K
40, 20Ca

40

4) 14Si
31, 15p

32

f. 3;
ÑÐ]lÆý‡×æ: Ýë«§éÆý‡×æ…V> Ð]lÊËMýSç³# ç³Æý‡Ð]l*-
×æ$Ð]l# ]̄l$ ZXA ™ø çÜ*_Ýë¢Æý‡$.
CMýSPyýl A = {§ýlÐ]lÅÆ>Õ çÜ…QÅ,
Z = ç³Æý‡Ð]l*×æ$ çÜ…QÅ
JMóS ç³Æý‡Ð]l*×æ$Ð]l# {§ýlÐ]lÅÆ>Õ çÜ…QÅ (A),
ÐólÆó‡ÓÆý‡$ ç³Æý‡Ð]l*×æ$ çÜ…QÅË$ ]̄l² (Z) ÑÑ«§ýl
Ð]lÊËM>Ë ç³Æý‡Ð]l*×æ$Ð]l#Ë ]̄l$ IÝù»êÆŠæË$
A…sêÆý‡$.
Oò³ ÐésìæÌZ 19K

40, 20Ca
40ËÌZ JMóS

{§ýlÐ]lÅÆ>Õ çÜ…QÅ (40) ÐólÆó‡ÓÆý‡$ ç³Æý‡Ð]l*×æ$
çÜ…QÅË$ (19, 20), ÐólÆó‡ÓÆý‡$ Ð]lÊËM>Ë
ç³Æý‡Ð]l*×æ$Ð]l#Ë$ (K, Ca). M>ºsìæt 19K

40,

20Ca
40Ë$ IÝù»êÆŠæË$.

11. 4Ð]l íÜ¦Æý‡ MýS„ýSÅÌZ E ]̄l² GË{M>t̄ ŒæË çÜ…QÅ?
1) 16 2) 32 3) 4 4) 8

f. 2;
ÑÐ]lÆý‡×æ: JMýS íÜ¦Æý‡ MýS„ýSÅÌZ ]̄l$ ]̄l² GË{M>t̄ ŒæË
çÜ…QÅMýS$ çÜ*{™èl… 2n2 

CMýSPyýl n = íÜ¦Æý MýS„ýSÅ çÜ…QÅ
n = 4; 2n2 = 2×42 = 2×16 = 32

12. MìS…¨ ÐésìæÌZ V Ìôæ§é Mø×îæÄ¶æ$ BMýS–†°
MýSÍW E ]̄l² A×æ$Ð]l# H¨?
1) ±Æý‡$ 2) AÐðl*Ã°Ä¶æ*
3) PCl5 4) CO 2

f. 1; 
ÑÐ]lÆý‡×æ: ±sìæ A×æ$Ð]l# ¸ëÆý‡$ÃÌê H2O.
©°ÌZ MóS…{§ýlMýS ç³Æý‡Ð]l*×æ$Ð]l# 'O'
±sìæ A×æ$Ð]l# BMýS–†:

13. íÜÍM> A×æ$¿êÆý‡… G…™èl?
1) 40 2) 44 3) 60 4) 72

f. 3;
ÑÐ]lÆý‡×æ: íÜÍM> ¸ëÆý‡$ÃÌê & SiO2
Si (íÜÍM> Œ̄æ) ç³Æý‡Ð]l*×æ$ ¿êÆý‡… = 28
O (BMìSÞf Œ̄æ) ç³Æý‡Ð]l*×æ$ ¿êÆý‡… = 16
SiO2 = 1Si + 2 (O)

= 1×28 + 2×16
= 28+32 = 60

14. MìS…¨ ÐésìæÌZ Æý‡ÝëÄ¶æ$ ]̄l ÑÄñæ*VýS è̂lÆý‡Å
H¨?
1) NH 3+HCl→ NH 4Cl
2) CaCO3 → CaO+CO 2
3) Zn + CuSO4 → ZnSO4+Cu
4) BaCl2+Na2SO4→ ΒaSO4↓ + 2ΝaCl

f. 2;
ÑÐ]lÆý‡×æ: JMýS ç³§éÆý‡¦… Ñyìl´ùÆ‡¬ Æð‡…yýl$ Ìôæ§é
A…™èlMýS…sôæ GMýS$PÐ]l ç³§éÆ>¦Ë¯]l$ HÆý‡µÆý‡ayé°²
Æý‡ÝëÄ¶æ$ ]̄l ÑÄñæ*VýS… A…sêÆý‡$.
CaCO3 → CaO+CO 2

15. çÜË¹ÆŠæ ç³ÇÐ]lÆý‡¢̄ ]l EÚù~{VýS™èl G…™èl?
1) 119.2°c 2) 112.8°c
3) 95.6°c 4) 96°c

f. 4;
ÑÐ]lÆý‡×æ: 96°c Ð]l§ýlª Æ>…¼MŠæ çÜË¹ÆŠæ ]̄l$
Ðólyìl ó̂lõÜ¢ Ððl*¯øMìSÏ°MŠæ çÜË¹ÆŠæV> Ð]l*Æý‡$™èl$…¨.
D EÚù~{VýS™èl ]̄l$ çÜË¹ÆŠæ ç³ÇÐ]lÆý‡¢̄ ]l EÚù~{VýS™èl
A…sêÆý‡$.

16. {§ýlÐ]l Æ>fÐ]l¬ (AM>ÓÈhÄ¶æ*) A…sôæ?
1) 1:3 çœ$ ]̄lç³ÇÐ]l*×êË V>Éýl HNO 3,

çÜfË HC l
2) 3:1 çœ$ ]̄lç³ÇÐ]l*×êË V>Éýl HNO 3,

V>Éýl HC l
3) 1:3 çœ$ ]̄lç³ÇÐ]l*×êË V>Éýl HNO 3,

V>Éýl HC l
4) 1:3 çœ$ ]̄lç³ÇÐ]l*×êË çÜfË HNO 3,

çÜfË HC l
f. 3;

ÑÐ]lÆý‡×æ: {§ýlÐ]l Æ>fÐ]l¬ A…sôæ 1:3
çœ$ ]̄lç³ÇÐ]l*×êË V>Éýl HNO 3, V>Éýl
HC lË Ñ${ÔèæÐ]l$….

17. MìS…¨ ÐésìæÌZ ´ëÍÔ>QOÆð‡yŠæ H¨?
1) VýS*ÏMøgŒæ 2) çÜ${MøgŒæ
3) òÜË$ÅÌZgŒæ 4) Ð]l*¯øgŒæ

f. 3;
ÑÐ]lÆý‡×æ: VýS*ÏMøgŒæ, Ð]l*¯øgŒæË$ Ððl*¯ø Ô>QOÆð yŠæË$
çÜ${MøgŒæ AÍVø Ô>MýSOÆð‡yŠæ
òÜË$ÅÌZgŒæ ´ëÎ Ô>MýSOÆð‡yŠæ

18. Æý‡MýS¢… VýS$×æ… HÑ$sìæ?
1) BÐ]l$Ï VýS$×æ… 2) „>Æý‡ VýS$×æ…
3) ™èlrçÜ¦… 4) Oò³ÐólÒ M>Ð]l#

f. 2;
ÑÐ]lÆý‡×æ: Æý‡MýS¢… PH ÑË$Ð]l : 7.32&7.45
PH ÑË$Ð]l 7 MýS…sôæ GMýS$PÐ]lV> E…sôæ
Ðésìæ° „>Æ>Ë$ A…sêÆý‡$. M>ºsìæt Æý‡MýS¢…
„>Æý‡ VýS$×æ… MýSÍW E…r$…¨.

19. Ýë«§éÆý‡×æ ¸ëÆý‡$ÃÌê CnH2n çÜ*_…^ól¨?
1) BOÌñæP Œ̄æË$ 2) BÌôæP Œ̄æË$
3) BÎP Œ̄æË$ 4) BOÌñæPÌŒæË$

f. 3;
ÑÐ]lÆý‡×æ: BÌôæP Œ̄æË Ýë«§éÆý‡×æ ¸ëÆý‡$ÃÌê
CnH2n+2
BÎP Œ̄æË Ýë«§éÆý‡×æ ¸ëÆý‡$ÃÌê CnH2n
BOÌñæP Œ̄æË Ýë«§éÆý‡×æ ¸ëÆý‡$ÃÌê CnH2n-2
BOÌñæPÌŒæË Ýë«§éÆý‡×æ ¸ëÆý‡$ÃÌê CnH2n+1

20. Ð]l* ]̄lÐ]l Ô¶æÈÆý‡…ÌZ E…yól GOÐðl$¯ø BÐ]l*ÏË
çÜ…QÅ?
1) 62 2) 32 3) 26 4) 23

f. 3;
ÑÐ]lÆý‡×æ: Ð]l* ]̄lÐ]l Ô¶æÈÆý‡…ÌZ Ððl¬™èl¢¢… 26
AOÐðl$¯ø BÐ]l*ÏË$…sêÆ‡¬.

21. JMýS Ð]lÅMìS¢, JMýS G™ðl•¢̄ ]l ¿¶æÐ]l…†MìS 132 Ò$rÆý‡Ï
§ýl*Æý‡…ÌZ JMýS r´ëM>Ä¶æ$ ]̄l$ õ³Ía™ól §é°

{ç³†«§ýlÓ° 0.8 òÜMýS ]̄lÏ ™èlÆ>Ó™èl Ñ°í³…_…¨.
AÆ‡¬™ól «§ýlÓ° ÐólV>°² MýS ]̄l$MøP…yìl?
1) 100 Ò$./òÜ. 2) 330 Ò$./òÜ. 
3) 480 Ò$./òÜ. 4) 132 Ò$./òÜ. 

f. 2;
ÑÐ]lÆý‡×æ: {ç³†«§ýlÓ° M>Ë… (t) = 0.8òÜMýS¯]l$Ï

«§ýlÓ° {ç³Ä¶æ*×ìæ…_ ]̄l Ððl¬™èl¢…
§ýl*Æý‡… 2d = 2×132Ò$ = 264Ò$

«§ýlÓ°ÐólVýS… (V) = 2d/t
V = 264/0.8 = 330Ò$./òÜ.

22. 500 òßæÆŠætgŒæ (HZ)Ë ´û ]̄l@ç³# ]̄lÅ… E ]̄l²
™èlÆý‡…VýSç³# BÐ]lÆý‡¢ ]̄l M>Ìê°² MýS ]̄l$MøP…yìl.
1) 0.2 òÜMýS Œ̄æË$ 2) 5 òÜMýS Œ̄æË$
3) 20 òÜMýS Œ̄æË$ 4) 0.002 òÜMýS Œ̄æË$

f. 4;
ÑÐ]lÆý‡×æ: BÐ]lÆý‡¢̄ ]l M>Ë… T = 1/ν

´û¯]l@ç³# ]̄lÅ… (ν) = 500 HZ
∴T = 1/500 = 0.002 òÜMýS¯]l$Ï

23. _‹³Þ GMýS$PÐ]l M>Ë… °ËÓ E…yýlyé°MìS ´ëÅMðSsŒæ
ÌZç³Ë H ÐéÄ¶æ¬Ð]l# ]̄l$ °…ç³#™éÆý‡$?
1) O2 2) N2 3) H2 4) CO 2

f. 2;
ÑÐ]lÆý‡×æ: lŌ ðl{sZf Œ̄æ ÐéÄ¶æ¬Ð]l# ]̄l$ °…ç³yýl…
§éÓÆ> BMîSÞMýSÆý‡×ê°² °ÐéÇ…_ Ð]l¬MìSP-
´ùMýS$…yé ^ólÄ¶æ$Ð]l^èl$a.

24. V>Æ‡¬rÆŠæ _MìS™èlÞÌZ MìS…¨ H IÝùsZç³# ]̄l$
Eç³Äñæ*WÝë¢Æý‡$?
1) Ä¶æ¬Æó‡°Ä¶æ$… 2) Mø»êÌŒæt
3) AÄñæ*yìl Œ̄æ 4) H©M>§ýl$

f. 3;
ÑÐ]lÆý‡×æ: Ä¶æ¬Æó‡°Ä¶æ$… IÝùsZç³# ]̄l$ ¯]l*ÅMìSÏ-
Ä¶æ$ÆŠæ ÇÄ¶æ*MýStÆŠæÌZ C…«§ýl ]̄l…V> Ðéyýl$™éÆý‡$.
MóS ]̄lÞÆŠæ _MìS™èlÞÌZ Mø»êÌŒæt IÝùsZç³# ]̄l$
Eç³Äñæ*WÝë¢Æý‡$. V>Æ‡¬rÆŠæ _MìS™èlÞÌZ AÄñæ*-
yìl¯Œæ IÝùsZç³# ]̄l$ Ðéyýl$™éÆý‡$.

25. MìS…¨ ÐésìæÌZ {† çÜ…Äñæ*fMýS M>rÄ¶æ* Œ̄æ
M>°§ól¨?
1) Al+3 2) Fe+3

3) PO4
−3 4) Bi+3

f. 3;
ÑÐ]lÆý‡×æ: SAl+3, Fe+3, Bi+3Ë$ {†
çÜ…Äñæ*fMýS M>rÄ¶æ* Œ̄æË$
PO4

−3 {† çÜ…Äñæ*fMýS B ]̄lÄ¶æ* Œ̄æ
6 12 72

R 4
6 12 18

×= = =
+

1 2

1 2

R R
R

R R
=

+

360
1

60
−

360
n 1

θ
= −

W
P

t
=

9860
F 98.

100
= =

37 F 32

100 180

−=

C F 32

100 180

−=

G.Ñ. çÜ$«§éMýSÆŠ‡
çÜ»ñæjMýS$t °ç³#×æ$Ë$

H
O

H

RRB Online Tests

SAKSHI EDUCATION

www.sakshieducation.com

� Subscribe one time & Practice any number of times

� Graphical Performance Reports

RRB GROUP -D & NTPCRRB GROUP -D & NTPCRRB GROUP -D & NTPCRRB GROUP -D & NTPCRRB GROUP -D & NTPCRRB GROUP -D & NTPCRRB GROUP -D & NTPCRRB GROUP -D & NTPCRRB GROUP -D & NTPCRRB GROUP -D & NTPCRRB GROUP -D & NTPC

10+10 Tests With Explanations

RRB GROUP -D & NTPC

{ç³™ólÅMýS…{ç³™ólÅMýS…{ç³™ólÅMýS…{ç³™ólÅMýS…{ç³™ólÅMýS…{ç³™ólÅMýS…{ç³™ólÅMýS…{ç³™ólÅMýS…{ç³™ólÅMýS…{ç³™ólÅMýS…

íœhMýSÌŒæ OòÜ¯ŒæÞíœhMýSÌŒæ OòÜ¯ŒæÞíœhMýSÌŒæ OòÜ¯ŒæÞíœhMýSÌŒæ OòÜ¯ŒæÞíœhMýSÌŒæ OòÜ¯ŒæÞíœhMýSÌŒæ OòÜ¯ŒæÞíœhMýSÌŒæ OòÜ¯ŒæÞíœhMýSÌŒæ OòÜ¯ŒæÞíœhMýSÌŒæ OòÜ¯ŒæÞ

BÆŠæBÆŠæ½BÆŠæBÆŠæ½BÆŠæBÆŠæ½BÆŠæBÆŠæ½BÆŠæBÆŠæ½BÆŠæBÆŠæ½BÆŠæBÆŠæ½BÆŠæBÆŠæ½BÆŠæBÆŠæ½BÆŠæBÆŠæ½BÆŠæBÆŠæ½BÆŠæBÆŠæ½BÆŠæBÆŠæ½BÆŠæBÆŠæ½
f¯]lÆý‡ÌŒæ çÜtyîl‹Üf¯]lÆý‡ÌŒæ çÜtyîl‹Üf¯]lÆý‡ÌŒæ çÜtyîl‹Üf¯]lÆý‡ÌŒæ çÜtyîl‹Üf¯]lÆý‡ÌŒæ çÜtyîl‹Ü


